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ITI 2nd Year ELECTRICIAN Trade Theory NIMI MCQ | Unit 5. Alternator | #1381 + English

253 Which formula is used to calculate EMF/phase in a
ideal alternator? | 31Te2f 3feeAeT e EMF /%551 HIST0gTST

PIUTd FF IRt 5TTd?
AE =27

2.22
BE=2T

4.44
CE=222QFT
DE =444 @ FT
Ans: (D)

254 Which rule is used to find the direction of induced
emf in an alternator? | 3feezicTed ARa serAEwt e
MYUITHATST BIoTAT FAIH ITURET STd1?

A Cork screw rule | id &p fam

B Right hand palm rule [357c0T ETATAT dSeTaren fAaw

C Fleming's left hand rule | ST ST BTdT=T AW
D Fleming’s right hand rule | TRfRPTIT 35T gTam=n fAaw
Ans: (D)

255 What is the name of the part of alternator? |

A Stator | ®&R

B Exciter | 3d3dsidbsidb

C Salient pole rotor | &4 yd X

D Smooth cylindrical rotor | &7 [Std G8TMATBR AR
Ans: (D)

256 What is the formula to calculate emf equation of an
alternator? | 3Teeed SCHTH JHIGRUT HBIEUATHTS! BIoTd
A 3me?

AE=444 KK T Pm

B E =2.22 Ky Kc Fm

CE=4.44 Ky K FT ¢pm

D E=11MKyKcF ¢m

Ans: (C)

257 How alternators are rated? | 3{ceAc? &l I ot
SITdrd?

A KVA

B KW

Cc MW

D KV

Ans: (A)

258 Which formula is used to calculate the percentage
voltage regulation in alternator? | 3fecAcHeitel cahart
@S] TGN HISTUATATST PIUTd G aTuRed S1Td?

A ZEEIL 3 100

FL

B %x 100

FL

c%xmo

NL

D YELVNL 4 100
VL

Ans: (B)

259 What is the supply frequency of an alternator
having 6 poles runs at 1000 rpm? | 6 GieT 3T
ATt RAST gRARAT 1000 rpm <R fdsdt 3112? |
A 25 Hz

B 40 Hz

C50Hz

D 60 Hz

Ans: (C)

260 Calculate the speed of an alternator having 2 poles
at a frequency of 50 Hz? | 50 Hz T dRARdR 2 Yd
AT AT AT AISIT?

A 1500 rpm

B 2500 rpm

C 3000 rpm

D 6000 rpm

Ans: (C)
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261 What condition the lamps become dark in dark lamp
method of parallel operation of two alternators? [GI
AT AR HTURRAAT 7186 e ugdiAed féd
BT fefdid 3¢ giara?

A Terminal voltages are equal | effeT @leRst THM 3Med
B Voltage and frequency are equal | @eesT 31107 aRARAT
HHM 318d

C Voltage and power rating are equal | @leesT 31107 TR
¥ aHT 3mRd

D Frequency are same in both alternator G-t
HeCARHEA D IRARAl §HM 3718

Ans: (B)

262 How to compensate de-magnetizing effect due to

armature reaction in an alternator? | 3fee3AcIHEf et 3THR
R3iaerHes St-gadbiy yHTaT=it WRUTE Peit drret?

A Reducing the speed of alternator | 3/ee3AedT AT BHT
G|

B Reducing field excitation current | Bleg 3T YdTe
PHHT B0

C Increasing field excitation current | Bieg 3AHT YdTE
qrequl

D Increasing the speed of alternator | 3feeear a7
qrequt

Ans: (C)

263 What is the use of synchroscope? | fighIepIg=
3UANT BRI?

A Adjust the output voltage | 313¢Y¢ Elees AT
Gy

B Adjust the phase sequence | %51 thH JHIANSTA B

C Adjust the supply frequency | [RaIal aRARAT AT
Gy

D Indicate the correct instant for paralleling | 9HiaR TTat
7y sfeue gRfar

Ans: (D)

264 What is the name of the equipment that provides
D.C to the rotor of alternator? | 3fee3e3adT A1 D.C
RAVRIT 3UROT AT BT 3Te?

A Exciter | 3d351d

B Inverter | 3&&

C Converter | HIdR

D Synchroniser | fispHRISR

Ans: (A)

265 What is the purpose of damper winding in
alternator? | 37eeRACIHER SR TSI 3830 B 3MR?

A Reduces the copper loss | diedT AT BHT Bd

B Reduces windage losses | d=ITa A FBH! did

C Reduces the hunting effect | fIBR THTT HHT B

D Improves the voltage regulation | @leesT AT guRa
Ans: (C)

266 Which condition is to be satisfied before parallel
operation of alternators? | 3eTACIAT HHIAR ATURAYAT

PloTdt 31¢ quf BRI 3me? |

A Rating must be same | 3T THM 310} 3T 318

B Phase sequence must be same |53 IhH THIT 31Ol
ATARTD 37T

C Rotor impedance must be same | IR UfdareT IaH
3O 3TARID 3T

D Stator impedance must be same | @R UfqdreT Iq9H
3O 3TARTD 3T

Ans: (B)

267 What is the speed of an alternator connected with a
supply frequency of 50 Hz at rated voltage having 4
poles? |

A 1000 rpm

B 1500 rpm

C 3000 rpm

D 4500 rpm

Ans: (B)
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268 What condition the two lamps become bright and
one lamp dark during paralleling of two alternators? |G

AT AR AT &H & 357e5dTd 311f0T Teb féar
HECEGIE

A Terminal voltages are equal | effeT @leRst THM 3Med
B Voltages and frequencies are equal | @leesT 30T
A=t 9 3med

C Voltages and phase sequence are equal | @eesT 31Tf0T
3T 31JPH HH 31Ted

D Both the alternators receive same frequency [gl&t
A HHM IRARAT UTH BIdTd

Ans: (B)

269 What causes the terminal voltage of an alternator
reduces, if the load increases? | @3 TG 3feTAcTd
et Bieest BATS HH Era?

A Field resistance | ties Ufd®R

B Armature reaction | 3ITHeR Ufafdsar

C Inductive reactance | 3PTHATEH® Afdfdsar

D Armature resistance | 3R UfdbR

Ans: (D)

270 What is the purpose of using damper winding in AC
generator? | AC STReIHER SR 1S3 aToRuaT=IT 3220 BRI
3Te?

A Prevents heating | TRH 8101 AfdeE &3d

B Reduces copper loss | diedT AT BHT Bd

C Reduces windage loss | RT &HT &ldl

D Prevents the hunting effect | RRI®GR TTa Ufdeftd &d
Ans: (D)

271 What is the type of alternator? | 3/eeA¢dl YBR B

A Brushless alternator | SIRIe1d 37ciAc?

B Three phase alternator | &t %537 3feeRA&R

C Single phase alternator | f&TeT U537 3TeeAeR

D Salient pole type alternator [&I Yd YbR TR
Ans: (A)

272 Calculate the speed in r.p.s of the 2 pole, 50Hz
alternator? | 2 Ulel, 50Hz 37eTAEIAT r.p.s HEA Tl HISTT?
A 50 rps

B 100 rps

C 1500 rps

D 3000 rps

Ans: (A)

273 What is the advantage of using rotating field type

alternator? | AT tHies eTdd 1eeAer ATRUATAT BIRIST
P ATe?

A Easy to locate the faults in the field | daTdle Iy M0
qg

B Easy to connect the load with alternator | 37ee3qciTg
WIS BAdT B0 HIY

C Easy to dissipate the heat during running | ¥TddrT
ISOTAT 7 01 1

D Two slip rings only required irrespective of No. of
phases [ &Y 71 31123 3mRd

Ans: (D)

274 What is the effect in increasing the field excitation
current in alternator? | 37ee3AcIHed thies TfdeM Bic
ATEIUYTT BT URUTH gdr?

A Prevents demagnetizing | GeIhIaeoT Ufdeifeid od
B Over voltage protection | 31c&X @leasT TREM0T

C Dead short circuit protection | 7d 2ITé Tfdbe e

D Alternator will be over loaded | 3eeRAR 3R TS
EHES

Ans: (A)
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275 Calculate the pitch factor (KP) for a winding having
36 stator slots 4 pole with angle (a) is 30° in alternator? |
ICTACHED B (o) 30° 3TTAT 36 LR Wiled 4 Uil
e aTsfEIaTet fomr thaeR (KP) WIT?

A 0.942

B 0.965

C0.978

D 0.985

Ans: (B)

276 What is the cause for hunting effect in alternators? |

HeeAHED RIBR BUATAT URUITHI BRUT BT 3Ta?

A Due to over load 37lceR @IS

B Running without load | HR T TTeTdT

C Running with fluctuation of speed [T T&3dRTHE
YTqul

D Due to continuous fluctuation in load [elsHed ad
TG-3dR SIS

Ans: (D)

277 Calculate the voltage regulation in percentage if the
load is removed from an alternator, the voltage rises
from 480V to 660V? | EleesT IR TRbARIA TUHT
PRI 5R CACTB TIS BIGT Clebe aR EleesT 480V TH
660V Tdd arear?

A 272 %

B 325 %

C375%

D 38.5%

Ans: (C)
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